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1) 2x-5(x + 2)(x + 3)

2x-5(x+2)x+3)=ax+ 2 +bx+ 3

2x -5 =a(x + 3) + b(x + 2)

x=-2 - -9=a

x=-3 - -11=-b - b=11

2Xx-5x+2)x+3)= 11x+3-9x + 2
2) 2x + 22x2 + 2x

2X + 22%2 + 2x = ax + bx + 2

2x - 22 =a(x + 2) + b(x)

x=-2->18=-2b - b=-9

x=0-22=2a - a=11

2X + 22x2 + 2x = 11x-9x + 2
3)4x - 30x2 - 8x + 15

4x - 30x2 -8x + 15 =4x-30(x-5)(x-3)=-5x-5+9x -3
4)0x2-7x+10(x-2)x2 + 1)

6x2-7x+ 10(x-2)x2+1)=4x-2+2x-3x2 + 1
5) 2 -3x-4x2x(x - 1)(1 - 2x)

2-3x-4x2x(x-1)(1-2x) =-2x + 5x-1+ 21 - 2x

> lgio 1/4



alaia 2% Jilosall S5 ol

i 5
@ilall @ulzill asia 2k Ve

6) x8x2 - 10x + 3
x8x2-10x + 3 =x(4x-3)(2x-1) =32(4x-3)-12(2x-1)
7) 12x3 - 3x2 - 32x -15
12x3-3x2-32x-15=1(x+ 3)(x-5)2x + 1)
= 140(x + 3) + 188(x-5) -455(2x + 1)
8) 9x2 - 9x + 62x3 -x2 - 8x +4
Ox2 -9x + 62x3-%x2-8x+4 =9x2-9x + 0(x-2)(x + 2)(2x - 1)
=2x-2+3x+2-12x-1
9)5-3x-x2-x3 + 3x2 + 4x -12
5-3x-x2-x3 +3x2 +4x-12=5-3x-x2(x + 2)(x - 2)(3 - x)
=14x+2)+74(x-2)+ 13 -x
10) (x - 3)2x3 - 16x

(x - 3)2x3 - 16x = (x - 3)2x(x + 4)(x -4) = -916x + 4932(x + 4)
+ 132(x-4)

11) 7x-3x2-8x + 16
7x-3x2-8x+16=7x-3(x-4)2=7(x-4) + 25(x-4)2
12) 1(x + 1)(x - 2)2
Ix+1)x-2)2=19(x+1)-19(x-2) + 13(x - 2)2
13) 2x2 - x - 6x3 + 4x2 + 4x
22 -x-6x3 +4x2 +4x =3x-1-6x+92x2+x+5
14) x - 3x3 + 3x
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Xx-3x3+3x=3+-32x+5+ 1x-1
15) x2 + 2x + 40x3 - 125

X2 +2x+40x3-120 = x+-7x-1 + 2x -2
16) -2x3 - 30x2 + 36x + 216x3 + 216

-2x3 - 30x2 + 36x + 216x3 + 216 = 3x2 -xx3-x2-x+ 1
17)x3 + 12x2 + 33x + 2x2 + 8x + 15

x3 + 12x2 + 33x + 2x2 + 8x+ 15 =ax-c + ac + b(x -¢)2
18) x5 - 2x4 + x3 + x+ 5x3 - 2x2 + x -2

x5 -2x4 + x3 + x+ 5x3-2x2 +x-2=1ab-a-b(lx-1x-a -
b + ab)

38 e (12a(x - a-a(12a(X + a 6,sall 1x2 - a2 &S Soy ol ool (19

. doud 228 pX 4+ 3 = 5x(x + 3)2 -p3p(x + 3)2 o5 I3 (20

pPX - 379(x2 + 2) = x2 - 8x + 7(x - -(8p3(x-1)2 + p9(x -1 8 I5] (21
Caad azle ! (1)2(x2 + 2p
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R(x) = 200004 - 3x)(11 - 7x)(7 -4x), 0 =sx =<1
el el 8,1l a2 50 R(X) 9+ zall 3g> Hlase cumx
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